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2.3 OUOOOOO
n0000

OD0y=f(z)0000 /0000000000000

(1) f(x)0I0D0 200000000000 f(x)0 /0000000000 f(z)0 10
0000000000000000 (f ()0 f(x)020 (20)00000000 f7(x)
000 f@@) 0000

(2)n>30000000f(+)0 0000000000000 f(2)010n-10
0000000000 (n—1)00000 fY)D0000000000000000
00 (fV(2))D fM(2) 0000 f(z)0n0 (n0)00000000
O00:000000 f®()0 ¢y, L2 rpypooooo00 fO@)=fz)00000

01 f(x)=a™ (mDDDD)DDEIf(%(x):(mm!k)!xmk (k <m), f™(z) =0 (k >m).
0 2: (sinz)™ = sin(z + =), (cosz)™ = cos(z + ).
0 3: (a®)™ = (loga)™a® (a>1). OO (e7)™ = e?,
cr-000
(1) 20000 (n=1,2,3,---)0000f(z)0 [0 »0000000 (0DO0 C*-000)
000000 f(x)0 0000000020000 f®()0 00000000000
(2) f(z)0 I0 C*-00000000000 f(x)0 I00000000000
(3) f(x)0 I0 C>~-00000000 f(»)0000000000000D00000000DO
0f(z)0 C*000M < 00000000000 f(z)0 C-000 0
00: 00211000 f(»)0 0000000000 f(z)0I0C0000
05 00000000000sing,cosz,e’,a® (a>0)0 (—o0,00)0 C*-000D
06 f(v) =22 (m>0000)0 C™-000000mO000 fM™(z) = m!|z| O
r=000000000000 C*-00000000
O: f(z) = 2?sin(l/z) (x £0), f(0)=0000000 f(2)0 (—00,00)0 0000000
000 f(z)0 2=00000000000 f(z)0 (—c0,00)00 C-00000000
O, C-0000000D00ODO00O: nO0O0OODODOODOOccOOODOOD IOODO
0000 IooCc-00o f(xO0OD0ODO0DO0DOooo Ccr(/)booooooo
C"(I)={f(z)| f(x)D0D00 =100 f(x)O 10 C™0O }. P2

goooong

00 f(x)DOOO /000000000000 0000000C:y=f(x)0zxz=a
000000 (0 ¢:y=g(x)=f(a)z—a)+ f(a)J0D0DO0DO0
OO00O0D00OD: 00 fe)Dzx=e0000(ODO0000)000000eO0DOOO
00 JO0000Jci00 f(r)—g(z)>0(000 f(z)—g(z) <0)0000 JOO @
gogdouoooobbbbbz=cd00d0oooon

DlgpOoO0000000000000000000
D20ppoO000000000000000000000000000000C ()00 f(z)0000
000 f(x)0000 =/000000000000000000000000000000O0O00000
0000000000000 f()00000000000000000000000000000000
00 (—00,00) 000000000 sing0 [0,27]000000000 sinz0 [0,27] 0000000000
000000000000000000000000000000000000000000000000
f(zx)D0000 [0,)) 000000000 f |y (z) 0000



00 f(z)0 I0000 (JOOOO0)000000000 /000000 f(z)dz=a
0000 (0O00)oooooooggls
SO000:z=a0 f(z)0000000000f(z)—g(x)00002=¢000000
ooooooogood

07 00 y=220 (—00,00)0000000 2=¢0000000 y=2a(z —a)+ >
0:00y=2-3202x=00000¢00000000000z=000000000
00 2.3.1: 20000 f(z)0 z=¢0000000

(1) f(a) >0 (000 <0)000 f(z)0Dz=a0000 (0O0)

(2) f"(a)=000 f(x) 0000 2=e00000000002z=0a0 f(z)00000
08 y=202>000000z=0000002<000000
0023.2(0000000000000000): 20000 f(2)0z=e00000
00 f(a)=000 f"(a) >0 (<0)000 f(z)0 z=¢0000 (0O00)0O000O0S
O: f(z) =2%—3:00000 (1) =0,f/(1)>000 f(z)Jz=10000 —200
0000 f(-1)=0,f"(-1) <000 f(zx)0z=-1000020000

0oooog

00 2.3.3: 00 f(z) 0000 1020000000 e, cI00000O000:

(i) f(a) <0, f(b) >0 (ii) f'(x) >0, f'(x) >0 (a <z <Db)

0oooooooo (1), (20ooooon

(1) f(z) =00 [¢,6] 0000000 «0000

(2) 00 {c,} 000 ¢, =b0000 o1 =c, — L 00000 ¢,0 000000

7 (cn)
00:00 @), ()0000400 (f(a), fO), f'(z), f(z)00000000(=,+,+,4),
0(—,+,4+,-), 0(+,—,—,+), O(+,—,—,—)00000000023300000000

000000000,0000000¢ =50, 0000000 ¢=a0000
00231 y=22-3,a=1,0=200000Ff(1)=-2, f(2) =1, f(z) = 2z > 0,
fx)=2>0(1<2<2)0000000023300000)0000 ¢ =2,000

i1 = — £ 00000000 {}0 a=v3000000
@) . ®

C2

aa b=Ci

0000000000
00 2.3.4000000000): 00 f(z),9(z)0000/0,000000000000

DDDDDﬂ@g@DIDnDDDDDDDDgumuwm:zﬁchﬂnW@¢W@.

0 (f(@)g(@)® = Y2, (k) FEP()g () = (@)g(x) + 2f (@) (x) + f(2)g"(x).

03gpo0DD000000000000000000000000000000MO000 f(z)00
0/00000000000a<b<c0000 00000 abc0nnn B0 <070 oo
DOo00o0oMm

D40000 «00000f(z)-g(z)=000000002=¢000000
0S00O0O0000D0000D0D00 (000 pY00)0000000




